NMIT — Arts and Media Building

The worlds first post tensioned
timber rocking shear wall building

Energy Post tensioning  Timber Rocking
Dissipaters tendons Walls

aurecon



NMIT — Arts and Media Building

Aurecon New Zealand Ltd

|SJ Architects — Nelson

Dunning Thornton — Wellington
University of Canterbury

aurecon



J
. |
AR\ T - L

L]
| _
A 4
J-

5|
W Y

o)
=
=
S
m
&
o
)
=
o
S
©
4
<
_
N
=
Z

aurecon




NMIT — Arts and Media Building

aurecon



NMIT — Arts and Media Building

T !I. 3
=W - Il |

18 |
< e |
Bl Bom Ll i Y

IR Y=

aurecon



NMIT — Arts and Media Building

Multi-storey LVL gravity frames

Long span timber / concrete composite beams
Stressed skin floor panels

Post Tensioned Shear Walls

S\

aurecon



NMIT — Arts and Media Building

I

aurecon



— Arts and Media Building

NMI

aurecon



NMIT — Arts and Media Building

aurecon



NMIT — Arts and Media Building

aurecon



NMIT — Arts and Media Building

aurecon



NMIT — Arts and Media Building

Shearwall at Grid E (Grid L similar)
wain

r'«\'\/".‘.'{
R

Lock Mut Cenfiguration - NI‘\b
cae

ot

A =

=

Ty ;
I'J“r'; |
IHW, T T'[rp:.l T

Shearwall at Grid 8 {Grid & similar)

o2 [camas
Bl BT
BEE

ARTS AND MEDIA BUILDING

o m

ARRAN

TR

ARTS
LVL SHEAR WALLS

30 VIEWS

o e
- w os | wam

= e
I N T oo | s
o B =

37H18.002 a1

CONSENT/TENDER ~ [*™™ 537.007 = 0z

aurecon



NMIT — Arts and Media Building

THE PROCESS:
FiX WASHER AND TIGHTEM PRIMARY NUT.
FIX LOCK NUT AND UNTIGHTEN PRIMARY NUT AGAINST LOCK NUT.

Lock Nut Configuration - All Walls |

cale

Shearwall at Grid E (Floor connection)

scale

aurecon

3-RB12, 3000lg. WELED TO —

12mm thk. STANDOFFS.

"SLAB REBARATE

REFER TO 52 SERIES Fﬂj

7

! \ ™
)

SECTION (
1:20

L-22x82 SLOTTED
HOLES FOR M20 BOLTS

150

”5,{
¢ 4 8 %

50|60

N

\

\\w

N

\

W

\
\

N

\

=

= =

SECTION ; 1048 ;
L]
2

| |8

—r
g

=]

GRIDS 6 & 6 AT
LEVEL 3 (8 TOTAL)

2-22xB2 SLOTTED
HOLES FOR M20 BOLTS

W

SECTION /1028

) 543101

| -
A GRIDS 6 & 8 AT
LEVEL 2 (8 TOTAL)



NMIT — Arts and Media Building

& |zam
T2 [orinos
0

lFas] o=

ARTS AND MEDIA BUILDING

et Tam
irving smith jack

ARRAW

B
ARTS
— wmss s o
gt LVL SHEAR WALLS
30 VIEWS
B e e P e
e | e [ Tan| em [T e | e

] N
as s | mnos| o o | e

s — ave
Shearwall at Grid E (Grid L similar) Shearwall at Grid 8 (Grid 6 similar) v Frand . T Ea
wcale ot e 37118.002 Al
= =
FOR CONSTRUCTION 537,002 B

aurecon




NMI

i_' 350

100
I T

193CHEE

10x300004 END PLATES ofw 2-26DIA
HOLES FOR M2L BOLTS AT 100 CRS

193CHZE WITH 20mm END PLATE V-BUTT
GROUND FLUSH. TAPPED FOR 2-M2& BOLTS

2-M24 BOLTS EACH END INTO
20mm END PLATE OF CHS

750 OR L60 DEEP BEAMS

169 LVL SHEAR WALL

| ws || m

10x4000IA PTFE WASHERS
WITH 200DIA CENTRAL HOLES

SECTION /ﬁ
1:10 \\__/

SHEAR WALL
PIVOT POINT DETAIL

aurecon

TR

300

00 50

104

50

— Arts and Media Building

300x50 SLOTTED HOLE IN SHEAR WALL

300x100xB M5 FALAT GRIND ALL EDGES
TO imm RADIUS, 3-22 DIA HOLES

»

Oh—=— 3-M20 [4.6) GALV BOLTS

m L
30050 SLOT IN SHEAR WALL WITH ROUNDED ENDS

750 OR 460 DEEP BEAMS

189 LWL SHEAR WALL

F50x150x10 PTFE SOLID SHIM. ALL
EDCES imm RADIUS, 3-21 DIA
HOLES




NMIT — Arts and Media Building

EDD - GRIDS E&L

ccccc

\

aurecon

PLUG WELI

M24 STUD

EDD PLATES ISOLATED

scale

SECTION /6018

1:10

1
Qﬁ.uua

HORIZONTAL SLOT



NMIT — Arts and Media Building

/,—fF“\\\ 2__
0l g e
9 a
_...r""[,.- &
— LT =
0l g 2T
9lla
. C,__
— 2

EDD PLATES ISOLATED

=scale

140

EDD - GRIDS E&L O

scale

501C

M20 BOLT

R

ORILL & TAP 4ODIA BAR EPOXY —

[KBO) INTO 5401A HOLE IN LVL 5ECT|0N |£0 1h.

aurecon




NMIT — Arts and Media Building

189

63mm LVL PANEL

— 63x50 LVL CONTINOUS

DISCRETE 63x50 PACKER

Lmm WIDE SKIN TO MASK
180mm WIOE BEARING PLATE

INFILL PANELS DETAILS - PLAN

scale 1 : 10

DISCRETE 63x50 PACKER

63mm LVL PANEL

.

au re co n PANEL DETAILS - VERTICAL SECTION



NMI

— Arts and Media Building

- sC
I O s ol I O O ||
—
f”—'—| . A Level 1
— M-M I L AR
- 5 i “B-RHEH & L ‘ 5 5
155 | 20 | 0 | 200 | 200 | 200 | 200 [0 :-:l 200 ::-:-l 0 | 200 | 200 | 200 | 136, 15 | 200 | 200 ||3:c 200 | :u.-l 00 |15:-|1su| 200 |':cu‘|'::-:- 200 | 200 | 200 | 6
L T T 1 L 1 1 T~ 1 Ll T 1 N L 1 T 1 =1 T~ 1 b e L L _l_ 1 1 Ll
{F\' -’T\ L0 ( g\i
iy —_ R vy
] SECTION /606
1:-2 \:»_3?-01_'1_’)
| ! | 56 L 1586 | |
| |
r 252 TSk lm E3D PLATES SR E 190 150:20mm STIFFENERT /.I_ T oLm nn BETWERN S
/ | / S AL AT Al e
— [o°°of = [eeeo] | ﬂ
‘ ., | - | | 20rm ENTRAL STIFENER ‘
30n 8l 3012
i T 1
—— 1
| SecTion foshy, | ~
1.3 \oane ) kr'
|
i / !sz-xm ALATHAR
Level 1 £ A 2 BATE PLATE
RLZ3600 — @t _F / . E—

aurecon

RE% PLUG WELDED':

TO BASE PLATE .». % [fis”

cfw RARBRN - T
- as -

W ai e




NMIT — Arts and Media Building

Questions?

aurecon



	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15
	Slide Number 16
	Slide Number 17
	Slide Number 18
	Slide Number 19
	Slide Number 20

